CLUUDNN [55E] | FHERBT7r—~ (EEBFRIE)

[THEZFFEKR] ﬁﬂ#;ﬁ'@@lE%&#ﬁiﬂ(:out
S 2E o RAEE _ «b«bﬁw rE {0380 1
om o IR

BEH

20174115

o ESI cems 0 O FE 0 ov#m MM
2 208 0
(4.17) (2.97) REH 2

Bm eeEm FE  POES B 0% 10%  20%  30%  40%  50%  60%  70%  80%  90%  100%

£ s i
425YKREC 34&UKEC 26&UKREC 18KUKREC 10LLE
50LLF 42LF 34LLF 26LLF 18LLTF
I. [BENFBERHRRE] BROFBFRRELUVUIHARDORELIZOT
TiE
p—
r5efis
—reEER EERETE 16.EBRRVENTE
15, *I?/ﬁ’g\z +T% NMATE B 7 eETE

_eUEE _EE

1BAE4LIE // 3MhETE 29.5METE \ 1BEBELE
/ S . N //mﬂ’\\
13.AISH

/ \4ﬁ%ﬁ‘£l$ BiEEI=YLTH / / \\ WREATE
12/|)>7*I$\/ /5(1;7;;;%% 27W£|i1$/ \ “ \/\m*ffl
1K TS 61’23;;;5 26.9% I~I$ i / zlﬁfi{}éﬁ
— o~
10.ALC-ECPTE /7.&“*4‘1% BBBHE ‘Fﬂﬁl% 2. vvE—I%
9. NIEEBELE 8HEILE UEETE BHIRAIHE
n=HEE K xfre
DNEE oo@f  m% 0 veEm FEE . n SRR oR@#m  me 0 vrESE Ea
13 E B R B I F 13
13 % T F 13 BN
13 i ES T = 13
‘ 13 g% 5] I = 13 -
. 18 W-bIEGTRER) 13
‘ ‘ ‘ ‘ ‘ 13 Y- TEGRUIER) 13
. 1 ® g T % 13 M
1 13 8% = T £ 13 BN
12 W ok BB I OE 12
13 ALC-ECPIH% 13
13 B X I ¥ 13
B8 Y -y v J I E 3
13 A I % 13
182 A4 L I FEF 13
S18 K T F 13
B ERRUTEVIE 13
132 B I % 13
18 & B T F 13 N
IRENE ST - S
13 A ® B B I F 13
B ERBREEREIF 13
18 Y vy 84— I F 13
B8 A5 R I FE 13
13z % T % 13 N
13 BEHKEBE T THE 13
‘13V~]%7ﬁ—l~°1$13:
‘3 m o%® K T % 1300
B Eaz=9ybrIE 13
1B # I 13
‘138 & T E 13
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%

(=B BEFRES

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%



